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Model Test 1

Section I Listening Comprehension

Part A

Directions:

You will hear three letters with different contents. Listen to them and fill out the table with the infor-
mation you’ve heard from the tape. Write only 1 word in each numbered box. You will hear the
recording twice. You have 25 seconds to read the table below. (5 points)

Letters Content of the letter Reasons for writing the letter
The first letter is a letter of Condolence To show . 1
The second letter is a letter of 2| on their friends’ 3
The third letter is a letter of 4| for a post as 5
Part B
Directions:

You will hear an interview. For questions 6 — 10, complete the sentences and answer the questions
while you listen. Use not more than 3 words for each answer. You will hear the recording twice.
You now have 25 seconds to read the sentences and the questions below. (5 points)

How many countries has he been to? 6
How many languages does he speak? 7
Northern Mali, in the Sahara Desert, is particularly } 3
memorable to him because he once spent

The first thing he always does when he gets to a new 9
place is to

He finds it quite easy to adjust to a different place because he is 10
Part C

Directions:

You will hear three pieces of recorded material. Before listening to each one, you will have time to

._1_



read the questions related to it. While listening, answer each question by choosing A, B, C or D. Af-
ter listening, you will have time to check your answers. You will hear each piece once only. (10
points)

Questions 11 — 13 are based on the following monologue. You now have 15 seconds to read questions
11-13.
11. How did the people upstairs behave when the speaker asked them about the girl?
[A] They told him all about her. [B] They didn’t tell him anything.
[C] They couldn’t tell him much. [D] They were annoyed with him.
12. Why did the speaker want to be left alone?
[A] Because he didn’t like his neighbors.
[B] Because he couldn’t speak the local language.
[C] Because he couldn’t stand the noise.
[D] Because he had suffered a failure in friendship.
13. The speaker seems to be .
[A] in love with Sally [B] unwilling to be involved with Sally
[C] curious about Sally [D] annoyed at being disturbed by Sally
You now have 30 seconds to check your answers to Questions 11 - 13.

Questions 14 ~ 16 are based on the following talk about parent-child relationships. You now have 15
seconds to read questions 14 — 16.

14. The speaker is primarily addressing .
[A] parents of teenagers [B] teachers
[C] teenager consultants [D] teenagers
15. Why do teenagers tend to have strange clothes and hairstyles?
[A] Because they want to show their existence by creating a culture of their own.
[B] Because they have a strong desire to be leaders in style and taste.
[C] Because they have no other way to enjoy themselves.
[D] Because they want to irritate their parents.
16. To improve parent-child relationships, teenagers are advised to be
[A] obedient [B] responsible
[C] co-operative [D] independent
You now have 30 seconds to check your answers to Questions 14 — 16.

Questions 17 - 20 are based on the following telephone conversation. You now have 20 seconds to read
questions 17 - 20.

17. Who first answered the call?
[A] Mrs. Henderson. [B] Mr. Henderson.

[C] Betty. [D] Mr. Murphy.
—_— 2 J—



18. From the conversation you can see that Betty must be .
[A] Mrs. Henderson’s maid [B] Mr. Murphy’s daughter

[C] Mrs. Henderson’s daughter [D] a little girl in kindergarten
19. When did Mr. Murphy move in?

[A] Tuesday. [B] Wednesday .

[C] Thursday. [D] Friday.

20. What is the man’s last question?
[A] On which day do the dustmen come?
[B] Where is the nearest police station?
[C] What time does the milkman call?
(D] Who is the most dependable newsagent?
You now have 40 seconds to check your answers to Questions 17 — 20.

You now have 5 minutes to transfer all your answers from your test booklets to ANSWER SHEET 1.
That is the end of Listening Comprehension .

Section II Use of English

Directions:
Read the following text. Choose the best words for each numbered blank and mark A, B, C or D on
ANSWER SHEET 1. (10 points)

According to government statistics, men of all social classes in Britain visit pubs quite regularly,
_ 21 the kind of pub they go to may be different and their reasons for going there 22
Nowadays they often take their wives or girl friends, which _ 23 to be the case.

The fact is that the typical English pub is changing, partly 24  the licensing laws not being so
strict as they 25 , but also because publicans are trying to 26 away with the old Victorian
_ 27 ofthepuband 28  provide couples with an atmosphere where they can both enjoy them-
sclves. Pubs used not to open _ 29 _ at certain times. The result was that they were usually _30
with men who seemed to be drinking as much as possible in the time _ 31 . But that kind of pub is
rapidly becoming a thing of the past.

Curiously enough, the old British licensing laws, which foreigners found so objectionable and ab-
surd, were _ 32  introduced as a _ 33 _ measure to stop workers drinking in the First World War.
34 the strong Puritanical _ 35  in Parliament took _ 36  of the law and _ 37 it.

Opening hours are _ 38  limited to eight hours a day, but the public can now choose the hours
which _ 39  him best. And these days you can even get a cup of coffee if you prefer 40  beer.
But in spite of this the Puritans would never dream of admitting that a pub could become a repeatable
place.

y t00.

21. [A] and [B] though [C] when [D] as
22. [A] disagree [B] diverge [C] vary [D] deviate
23. [A] used not [B] not used [C] used [D] is used



24. [ A] because [B] because of (c] for (D] in that

25. [A] were [B] are [C] used [D] had been

26. [A] take [B] do (C] keep (D] go

27. [A] sight [B] image [ C] appearance [D] perception

28. [A] then [B] instead [C] further [D] still

29. [A] except [B] except for [C] only [D] only for

30. [A] covered [(B] crowded (C] full [D] occupied

31. [A] available [B] proper [C] probable [D] accessible

32. [A] ordinarily [B] generally (C] originally [D] formerly

33. [ A] perpetual [B] temporary [C] uniform [D] temperate

34. [ A] Nevertheless (B] However [C] Afterwards [D] Furthermore

35. [A] factor [B] element [C] component [D] atom

36. [A] advantage [B] profit [C] use [D] charge

37. [A] retained [B] contained [C] maintained [D] detained

38. [A] even [B] just [C] but [D]sdll

39. {A] suit [B] match [C] meet [D]agree

40. [A] against [(B] for [C] with (D] to
Section III Reading Comprehension

Part A

Directions:

Read the following four texts. Answer the questions below each text by choosing A, B, C and D.
Mark your answer on ANSWER SHEET 1. (40 points)

Text 1

Recent stories in the newspapers and magazines suggest that teaching and research contradict each
other, that research plays too prominent a part in academic promotions, and that teaching is badly un-
der-emphasized. There is an element of truth in these statements, but they also ignore deeper and more
important relationships.

Research experience is an essential efement of hiring and promotion at a research university be-
cause it is the emphasis on research that distinguishes such a university from an arts college. Some pro-
fessors, however, neglect teaching for research, and that presents a problem.

Most research universities reward outstanding teaching, but the greatest recognition is usually giv-
en for achievements in research. Part of the reason is the difficulty of judging teaching. A highly re-
sponsible and tough professor is usually appreciated by top students who want to be challenged, but dis-
liked by those whose records are less impressive. The mild professor gets overall ratings that are usually
high, but there is a sense of disappointment on the part of the best students, exactly those for whom the

system should present the greatest challenges. Thus, a university trying to promote professors primarily
p— 4 —_—



on the basis of teaching qualities would have to confront this confusion.

As modern science moves faster, two forces are exerted on professors: one is the time needed to
keep up with the profession; the other is the time needed to teach. The training of new scientists re-
quires outstanding teaching at the research university as well as the arts college. Although scientists are
usually “made” in the elementary schools, scientists can be “lost” by poor teaching and research at the
college and graduate levels. The solution is not to separate teaching from research, but to recognize
that the combination is difficult but vital. The title of professor should be given only to those who pro-
fess, and it is perhaps time for universities to reserve it for those willing to be an earnest part of the
community of scholars. Professors unwilling to teach can be called “distinguished research investiga-
tors,” or something else.

The pace of modern science makes it increasingly difficult to be a great researcher and a great
teacher. Yet many are described in just those terms. Those who say we can separate teaching from re-
search simply do not understand the system, but those who say the problems will disappear are not ful-
filling their responsibilities.

41. What idea does the author want to convey in the first paragraph?

[A] It is wrong to overestimate the importance of teaching .

[B] Teaching and research are contradictory to each other.

[C] Research can never be emphasized too much.

[D] The relationship between teaching and research should not be simplified .

42, In academic promotions research universities still attach more importance to research partly because

[A] research improves the quality of teaching
[B] students who want to be challenged appreciate research professors
[C] it is difficult to evaluate teaching quality objectively -
[D] professors with achievements in research are usually responsible and tough
43. According to the fourth paragraph, to which of the following will the author probably agree?
[A] Distinguished professors at research universities should concentrate on research only.
[B] The separation of teaching from research can lower the quality of future scientists.
[C] 1t is of utmost importance to improve teaching in elementary schools in order to train new sci-

entists.
[D] The rapid development of modem science makes it impossible to combine teaching with re-
search.
44. The title of professor should be given only to those who, first and foremost, do
[A] teaching [B] scientific research
[C] field work ‘ [D] investigation

45. The phrase “the problem” (paragraph 5) refers to
[A] raising the status of teaching
[B] the combination of teaching with research
[C] the separation of teaching from research



[D] improving the status of research

Text 2

Our visual perception depends on the reception of energy reflecting or radiating from what we wish
to perceive. If your eyes could receive and measure infinitely delicate sense-data, you could perceive
the world with infinite precision. The natural limits of our eyes have, of course, been extended by me-
chamical instruments, telescopes and microscopes. There is, however, an ultimate limit beyond which
no instrument can take us. This limit is imposed by our inability to receive sense-data smaller than
those conveyed by an individual of energy. Since these quanta are believed to be indivisible packages
of energy and so cannot be further refined, we reach a point beyond which further resolution of the
world is not possible. It is like a drawing that a child might make by sticking indivisible discs of color
onto a canvas.

We might think that we could avoid this limitation by using quanta with extremely long wave-
lengths, such quanta would be sufficiently sensitive to convey extremely delicate sense-data. And these
quanta would be useful, as long as we only wanted to measure energy, but a completely accurate per-
ception of the world will depend also on the exact measurement of the lengths and positions of what we
wish to perceive. For this, quanta of extremely long wavelengths are useless. To measure a length ac-
curately within a millionth of an inch, we must have a measure graduated in millionths of an inch, a
yardstick graduated in inches is useless. Quanta with a wavelength of one inch would be, in a sense,
measures that are graduated in inches. Quanta of extremely long wavelength are useless in measuring
anything except extremely large dimensions.

Despite these difficulties, quanta have important theoretical implications for physics. It used to be
supposed that, in the observation of nature, the universe could be divided into two distinct parts, a
perceiving subject and a perceived object. In physics, subject and object were supposed to be entirely
distinct, so that a description of any part of the universe would be independent of the observer. The
quantum theory, however, suggests otherwise, for every observation involves the passage of a com-
plete quantum from the object to the subject, and it now appears that this passage constitutes an impor-
tant coupling between observer and observed. We can no longer make a sharp division between the two
in an effort to observe nature objectively. Such an attempt at objectivity would distort the crucial inter-
relationship of observer and observed as parts of a single whole. But even for scientists, it is only in
the world of atoms that this new development makes any appreciable difference in the explanation of
observation.

46. The primary purpose of the passage is to .

[A] discuss a problem that hinders precise perception of the world

[B] point out the inadequacies of accepted units of measurements

[C] criticize attempts to distinguish between perceiving subjects and perceived objects

[D] suggest the limited function of sensory observation
47. According to the passage, quanta with an extremely long wavelength cannot be used to give com-

plete information about the physical world because they
_ 6 —_—



[A] exist independently of sense-data
[B] are graduated only in inches
[C] have an insignificant amount of energy
[D] provide an insufficiently precise means of measuring length and position
48. The author implies that making a sharp division between subject and object in physics is

[A] possible in a measurement of an object’s length and position, but not in a measurement of its
energy

[B] still theoretically possible in the small-scale world of atoms and electrons

[C] possible in the case of observations involving the passage of a complete quantum

[D] no longer an entirely accurate way to describe observation of the universe

49. The phrase “in a sense” (paragraph 2) implies

[A] quanta of extremely long wavelength are essentially graduated in inches

[B] quanta of one-inch wavelength are not precisely compared to yardsticks graduated in inches

[C] quanta of extremely long wavelength, in at least one respect, resemble quanta of shorter
wavelength

[D] quanta of one-inch wavelength and quanta of extremely long wavelength do not differ only in
their wavelengths
50. According to the passage, the quantum theory can be distinguished from previous theories of
physics by its
[A] insistence on precise mathematical formulations
[B] understanding of the inherent interrelationship of perceiver and perceived
[C] recognition of the need for sophisticated instruments of measurement
[D] emphasis on small-scale rather than on large-scale phenomena

Text 3

It is difficult to overestimate the significance of literacy to a modem society. But in the attempt to
find in literacy an explanation for poverty, unemployment, disease and hopelessness, both in the third
world countries and here at home, politicians, educators and now newsmen have succeeded in doing
Just that. James Reston wrote in the New York Times years ago: “about a third or a half of the world’s
people suffer from hunger or malnutrition. The people of the undeveloped world are the majority of the
human race. . . There are one hundred million more illiterates in the world today than there were twenty
years ago, bringing the total to about eight hundred million.”

Notice how easily the author slips from poverty and malnutrition to illiteracy. The transition is
possible because of the unexamined assumption that they are causally related.

The Russian writer Tolstoy was among the first to point out that social problems such as poverty
and unemployment are not to be remedied by teaching people to read and write. What people need are
Jobs, not reading lessons. In fact, there is now evidence provided by some leading historians and
others that increased literacy is as likely to be a consequence of economic growth as a cause of it. It has

J— 7 —



also been noticed that literacy levels increased drastically when communities were industrialized and the
reason was very likely to lie in that reading became relevant to “one’s daily life.” As literacy becomes
more functional, both parents and children value education increasingly .

It is a mistake to attribute social problems simply to personal qualities such as intelligence or liter-

acy not only because such attributions are made without good grounds but because it leads one to offer
inappropriate solutions. The problem of unemployment will not be solved by reading lessons; job train-
ing, skills upgrading, and the like, which are perceived as relevant to “one’s daily life,” are part of
the solution to the problem of unemployment. The fundamental part, of course, is job opportunities.

To solve a pressing social problem, it is important to describe the problem correctly.

51.

52.

53.

55.

According to the author, politicians, educators and newsmen

[A] are trying to raise the literacy level of the people

[B] are correct in explaining the reason for poverty in the third world countries
[C] are overestimating the significance of literacy to a modern society

[D] are searching for a solution to pressing social problems

According to the author, James Reston easily slips from poverty and malnutrition to illiteracy be-
cause .

[A] it is believed that illiteracy is the cause of poverty

[B] there are more illiterates in the world today than twenty years ago

[C] it has been proved that they are closely related

[D] illiteracy is an outstanding problem to modem society

What does the author use to support his argument?

[A] Statistics from reliable sources.

[B] Facts concerning recent social changes.

[C] Logical conclusions based on his own observations.

[D] Views of well-known writers and scholars.

- According to this passage, industrialization helps to raise the literacy level because

[A] an increasing number of people can afford an education

[B] it creates job opportunities for a great number of people

[C] reading is generally regarded as a necessary part of life in modem society

[D] personal qualities are improved dramatically

The main idea of the passage is that social problems such as poverty and unemployment

[A] are causally related to community development

[B] cannot be solved by increasing literacy levels

[C] are the result of understanding the value of education
(D] prevent people from raising their level of literacy

Text 4
Reading to oneself is a modem activity which was almost unknown to the scholars of the classical
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